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Bi= 1/d " dm  p>l5 15
B,= 100p "° B,>15 15
p=1+1/ 1+0.25u/d
Frea=0.20f":7  Nimn?
fea N/mm?
u mm
Uy dr2 mm
d 2 mm
p 2
Vo 13 1.00
1
Type g/ecm® | N/mm? | N/mm? | N/mm® | kN/mm?
N-00 0 2.33 36.3 3.09 — 328
SL-00 ) 0 1.60 473 2.33 3.77 16.2
SL-12 12 1.63 1538 4.75 6.18 165
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2 2
2 ? Type (N/mir) N/mm?) /
g t,max T S,max o t,max T S,max o t,max T S,max
N-00 3.09 —* 2.94 4.70 1.05 —
SL-00 2.33 3.77 2.64 4.00 0.88 0.94
SL-12 4.75 6.18 441 5.99 1.08 1.03
*
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/ / /
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P=10d 2(a + 2x,,)xq + 2(b + 2x¢4)x,} e i @y |y | oo
1| 215
+ Ut,max{ 2(4Cd+ 2dd+ b)Cm + 2(a + de)cd} 2 N-00 2T 223 219 134 215 193 163 1.02 113
1| 178
SL-00 [2] 180 176 99.6 - 200 177 - 0.88
a’b cm 3 171
1| 263
X Xd SL-12 | 2| 253 257 98.0 - 318 262 - 0.81
3] 254
cm
3.0
A dy cm (262)
25 [
Cmy Cd cm
Ts,max, O-t, max kgf/ sz
Tymax  Otmax 3 4
Tymax =0.2520 —0.0002560,°  kgficm? 3
Oymax =0.583 o4 kgf/cm? 4
Ok (kgf/cm?) O - - ‘
3
3
2
2 SL-00 SL-12 / 2
Ts,max  Otmax Ts,max  Otmax / 0.88
3 5 8 1.08 0.88 0.81
2
10%
4.
a 2
Toma= 0170V +0.429 f.73 N/mim? 5 2
Oimax=  0.068Vy+0.268 £ N/mm? 6 1.2% 15
b 2 2 RC
Toma= 0.135Vy+0.306 f.77° N/mim? 7 12
Oimax= 0119V +0.202  f.77 N/mm? 8
Vs
1 N/mm? 1 2002
2
3 348/V-1 pp.113-141 1984.8
/ 3 3 2
/ 163 2.62
N-00 2009
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